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INSTRUCTIONS TO CANDIDATE

1. The Question-booklet contains 100 objective type questions. The candidates must
attempt all the questions. There is no negative marking.
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2. No Second Question-booklet OR Answer Sheet uill be given to the candidate under
any circumstances whatsoever. :
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3. The candidate within 10 minutes of the jssue of Question-booklet, will check up and
ensure that it contains all the pages and no page is missing. In case of missing page(s),
the candidate should report to the Invigilator and get it changed other for a complete

Question-booklet.
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The candidate will write Roll Number only on the Cover Page and ou the Answer Sheet of
the Question-booklet at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified in the Entrance Test.

el me-gftemr & amErr-g 9v ofi FOX-un B fAfds e 9T # erEr e
fora™, o & arger ufrendt gy uder @ dfg s Bar swaem

Do not write your Roll No. OR Name inside the Question-booklet.
ST YRAHI & 7= SYHT T A s T [

There shall be no erasing or overwriting in the answers given on the Answer Sheet,
in which case such answers shall be deemed as incorrect.

-1 TR M Gefeam Swdl @ faed @ Al R @ ogara JE & =i,
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Use of log 1ables or calculators is not permitted. _
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No candidate will be permitted to enter the Examination Hall after the expiry
of 30 minutes from the commencement of the Entrance Test.
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No candidate will be permitted. to leave the Examination Hall until the expiry of
two hours from the commencement of the Entrance Test.
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Candidate will not bring any loose paper, whether written or blank, inside the
Examination Hall except the Admit Card.
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Candidates using any kind of unfair means OR attempting to cause di{.slt.urbané:e;’m ltf;e-
Examination Hall shall be liable to be expelled from the Examination and his/

performance in the Test will be cancelled.
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Candidates are required 10 deposit the only OMR Answer Sheet at the close of the
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Fxamination.
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SCHOOL ENTRANCE TEST, 2017

CLASS : XI
h&lT : XI
BIOLOGY
SICRCEIGH
Time : Two Hours | [ Maximum Marks : 100
qqq ;g g2 : [ gufe : 100
IMPORTANT

ad carefully the Instruction for Answering given on the |
| Answer Sheet and answer the questions as directed :

WWWI%I”?U GIT HfFT FWT & @ ergEwr e @
| @IeT $iiT Fasmgar gy A - |

. In given table, which of the following statement is correet ?

LElement W  x ( Y T Z /

) Atomic Number 9 1q ) 17 ) 19 }

(1) W is a metal
(2) W is more reactive than Y
(3) X is more reactive than Z

(4) Y and Z are in the same period

L P.T.0
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& T gl & feg P 3 @ f-wr o gy B 7

l
‘. sl W X Y zZ
‘ GXHTY HHIE '\ 9 11 % 19
(1) Wus og 2 |

(2) W,Yd a1fus Bromiia B
(3) X,z caferp fpamaia &
4) YR Z@ae oed & B

2. Latent heat of fusion is :
(1) shown by a change in temperature
(2) not shown by a change in temperature

(3) heat released when ice melts

(4) heat associated with diffusion of gases
T @ T FHAT

(1) e ofeds & uReter adt ¥

(2) e aRada @ ofiteféa wd &
(3) % faes o e S |

(4) &l fEeer | i S

3. A liquid boils at 323 K. Its boiling point in °F and °C are

respectively :

(1) 122 and 50 (2) 50 and -122

(3) 50 and122 (4) None of these

e 5@ I FUAH 323 KB ) ghe FEAD °F A °CH A
(1) 1224950 (2) S0 ET_—12'2

(3) 503 122 @) =4 F Hg 7

(4)
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In an organic compound percentage of C and H is 54.5% and
9.1% and remaining is oxygen, then empirical formula of this
compound is ;

it el Feifre A & @l 54.5%, BRSNS 9.1% aur 9
Ao B, @ o8 @ B wedw @ ¥

(1) CHO (20 CH4O  (3) CHO, (4) CoHL0

In dry hot weather, water kept in an earthen pot becomes cool due
to the phenomenon of :

(1) osmosis (2) diffusion

(3) sublimation (4) evaporation

TF TH Agq &, Bredt & 92 & o S 83 F:r FROT
(1) wRrEReT (2) FergRer

(3} IR - (4) amgq

Which of the following is a non-metallic liquid at room
temperature ?

(I} Bromine (2) Chlorine (3) Selenium (4) Mercury
BT & & B o1uIg a9 WM Q9 9 09 HaeT  gr & 7
(1) snfe (2) &= (3) AAPEE (4 g

Which of the followihg will show Tyndall effect ?
(1) aqueous sugar solution |

(2) aqueous sodium chloride solution

(3) aqueous starch solution

{4) aqueous ethanol

(5) PTo
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9.

10.

=1 7§ @9 Rew g gefar & 7
(1) =N =1 STohg faergs

(2) OfETw Fivzs @ o e
(3) wrd @ sl o

(4) STl g

Concentration of the solution prepared by dissolving 40 g of NaCl
in 100 ml of water at room temperature is : |

(1) 28.57% 2) 3.5%
(3) 0.28% (4) None of thesc

40 I NaCl & 100 ml =@ & 919 &Y 9918 8 faeas @ arsdar
o i
(1} 28.57% (2) 3.5%

(3) 0.28% (4) T | Hig ALl

Which of the following is not a stable mixture ?

(1) Milk i (2) Sugar in water

(3) Copper Sulphate in water  (4) Chalk powder in water

Fres & § & U el fasor 78f & ?

(1) &1 (@) o H e

(3) o A T TEHE (4) o/ 7 A (wfEan)

A solution of hydrogen peroxide contains 6.8 g HyOo per 100 ml.
The molarity of this solution is :

a@aqqmgg%momﬁwﬁasmg@mqﬁm
gqﬁaa%;gaﬁawaﬁﬁaww%?

(1) 3.77 (2) 0.2 (3) 0.38 @ 2
(6)
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Which of the following has highest number of molecules ?

(1) 1gHO (2) 1gNHz (3) 1lgHj (4) 1g0;
P % & Forert oropell @ wear watfe e ?

(1) 1 mrf. HyO (2) 19 NHz (3) 139 Hy (4) 1319 O,

Which of the following is an exothermic reaction ?

(1) electrolysis of water (2) photosynthesis |
(3) deco-rnpos'ition of CaCOj (4) Process of respiration
Frer & @ @i somad sifiear B 7

(1) foga erqees ’ (2)  SBI9T-TeRrTor

(38} CaCOz =7 faues (4) =g9+ FhaT

A white precipitate is obtained by adding dilute sulphuric- acid
into a selution of ;

ﬁwﬁmfﬁmﬁ.ﬂa@ﬁ%aﬁrwmﬁwaﬁam&hw
R 7 |

(1) NaCl (2) BaCi, (3) Cucl, (4) FeCl,

A solution turns phenolphthalein indicator pink. The most likely
pH of this solution is ;

9 R S s & o @t qareh a2 @ g
pH BN : | |

(1) 1 2) & (3) 7 - {1) 10

Which of the following salts gives an alkaline solution on
dissolving in water ?

\

(1) NaCl (2) NaySO,

(3)  NayCO; (4) None of these

(7) P.T.0.
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16.

17.

18.

18,

20.

Fret § @ F-a1 @@or oid § gom O AR [geas a9 8 7
(1) NaCl (2) NanSO4
t3) NQQCOS ; (4] s:rﬁf ﬁ q_?'é ;‘_Eﬁ

A basic oxide is formed by the element :
eIy 3fREs =Ty aren a5 8o
(1) Na 2] P 3) S 4) cl

Which one out of the following metals will be displaced from the
solution of its salt by the other three metals ?

P & gs @ uig ¥ oo 5 oud faeme § oo dil arged
&y ferenfoa et 2 7

(1) Al (2) Ag (3) Fe 4 Cu

The number of protons in an atom of element X is 16. The number

of electrons present in its ion X 2~ will be :

X o W Mei A e 16 By ozEd X2 omEw H gaegrl @
e 8l
(1) 18 (2) 16 (3) 14 4) 8

Which of the following molecules possesses a double bond ?

(1) Hp (2) On

(3) Cly (4) None of these
freg & @ fpe ot § wF g @y AT 8 7

(1) Hy (2) Oy

(3) Cly (4) 3% @ I AEl

Iron is mixed with other metals to make an alloy called stainless
steel. The other metals are :

(1} Cu and N (2) CuandZn (3) Cuand Cr (4) Crand M

(8)
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die @ g urgell § e R9aw Ww g9 oar 81 3 9Ty
(1) Cu@Ni (2) CudZn (3) CudCr (4 CraNn

Which of the following is not an allotrope of carbon ?

(1) Buckminster fullerene (2) Graphite

(3) Diamond (4) Granite

fFer & Q @i Hree @ oTuR &Y FEF R ?

(1) wefiex g @) e

@ f (4) e

The ﬁm;ﬁonal'group in butanol is :

(1) aldehyde group (2} alcohol group
(3) ketone group | (4) carboxylic acid group
et ¥ uRer Rratoms w9 ®

(1) UWeers (2) QehrEw

(3) =i (4) =rtirafees st

‘During the process of cooking, if the outside surface of the utensil

gets backened, it indicates that :

(1) the fuel is burning completely

(2) the food is cooked completely

(3) the fuel is not burning completely

(4} the food is not cooked completely.

(9) P.T.O
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24,

25.

26.

W 9eRrg U Ui gde @l 98l ool il 8 ST & dl O% &slidr
B

(1) 34 qoieg & e e

(2) @ g ave W 9% @B

(3) 297 yofag & =<t o @ B

(4) @ gh e ﬁﬂsﬁ*ﬂ?fﬂ%

The electronic configuration of an element is 2, 8, 3. In modern
periodic table the elenient is placed in :

(1) Istgroup (2) 3rdgroup (3) 13th group (4 15th group
T T H FergltE g 2, 8, 3§, %aﬂgﬁ‘cﬁmﬁwz?—
e o | e ¢

(1) weamad  (2) & gd  (3) 13ar @ 4y 1540 @1

hight

The reaction CH4 + Cly, —-8-—CH3Cl + HCI 1s an example of :

(1) addition (2] substitution

(3) hydrolysis (4) oxidation

CHy + Cly —2 %5 CH4Cl + HCl 4 af¥fsrar Saee &

(1) Har= ) Faha (2) wferearg—

(3) SreTTgEET (4) STTerETeRToT

Kuffer cells are found in ,.......... . :

(1) Kidneyv (2) Liver (3) Blood {4) Heart

IR BRI .. ... e, 7 orefr st #)

) g% (2) TP (3) ¥ (Y &34
27. The pace-maker of the heart is :

(1) Bundle of His (2) A. V. Node

(3) S.A. Node _ (4) Purkinje fibers

(10)
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Wiﬁfaﬂﬁ?ﬁ(%:
(1) @vsd 3w B (2) To dlo IS
(3) THo o HIE (4) wdfept @g

A man of blood group A marries an AB blood group women. Which
type of progeny blood group indicates that the man 1s not
homozygous ?

TH WWH&EA%IWWABWEQH%@T@
s‘tmngaa aﬁwﬂﬁ%%ﬂ%wﬁw%m
W%mm@@m?

(1) AB (2) A (3) B (4) O
70s type of ribosomes are found in :
{1) Prokaryotic cell
(2) Eukaﬁotic cell
(3) Both prokaryotic and eukaryotic cell
(4) None of the above
70s TR F TSR 9l ) ¥
(1) Safeifs B E
gaiiafes it
(3) =Y, MBRAeH wd ghfafes Hfarmr &
(4) SuqF F | fhe 7
Lignin is deposited in :

(1) Xylem tissues - (2) Phloem tissues
(3) Cortex (4) None of the above

(113 P.TO.
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e ST gy 2 |

(1) STEEH dw d (2) 9OH SHaw o

B) awge 4 (4) SUET H @ el § W&
31, Which of the following is known as 'Suicide bag' ?

(1) Centrosome (2) Mesosome

(3) Ribosome (4) Lysosome

=1 & q fpaer ‘srorardr S wea & 7

(1) TR i (2) HEET &

(3) EAEH @l (4) rgEEE W
32. How many hydrogen bonds are found between Guanine and

Cytocine ? |

1) Two (2) Three (3) Four (4) Six

T UF digardE $ v § Rra eEgie @ 8 E 7

(1) a 2) &= (3) = (4) ®:

33. Mitochondria are not found in :

(1) Blue-green algae 2) Green algae

(3) Red algae (4) None of the above
HIECei~gar 787 urar S ®

(1) et sfRa dam o (2) eRe e #

(3) @ A H (4) Sudewa # frd § At

34. Starch and Sugar are :
(I} Protein (2) Carbohydrate
(3) Fat (4) None of the above
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98 0§ MY © |

(1) | (2) =wEiEEge

(3) ar : (4) SUET ¥ | HIg el
Pectin is : |

(1) Fat (2) Carbohydrate

(3) Protein (4) Inorganic compound
U B

(1) =@&r - (2) =raEEgE

(3) &= (4) el garet

Process of heating of milk at 62.8°C for 30 minutes followed by is
cooling is known as :

(1) Nitrification (2) Pasteurization

(3) Sterilization (4) Freezing

9 F 62.8°C qT 30 e % W T B A ever HA A AHAT
&l Fed &

(1) T (2) TS

@) Frefe (4) st

Which bgcterium_is found in human intestine ?

(1) Vibrio Cholerae (2) Bacillus anthracis
(3) Escherichia Coli (4) Corynebacterium
HIT-TT ST 7 @ St g ser &7

(1) B &6 (2) rg TRy

(3) sEENRREr g (@) BTy

{18) P.T.O.
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38. Which of the following causes food poisoning ?

(1) Xanthomonas Citri (2) Frankia

(3) Escherichia Coli (4) Clostridium botulinum

forer & @ @ o Rrameraen SO AT § 7

(1) o=enmara gt (2) A

(3) gl HarE (4)  FraRfETs St
39. Flowerisa:

(1) Modified root (2) Modified shoot

{(3) Modified leaf (4) None of the above

gsT ® 0%

(1) i gt (2) EARE TRIE

(3) =i O (4) SueRT # HE AE
40. Banar-la is :

(1) Berry (2) Pome (3) Pepo (4) Lomentum

el 8

(1) & w1 (2) 99 (3) o (4) @rHeA

41. Botanical name of red gram is !
(1) Cajanus cajan (2) Pisum sativum

(3} Phaseolus radiatus (4) Gossypium hirsutum

ST =T W1 arTedios A 8
(1) BT FT () wETT qerEad
(3) PRSI feded (4) et sgew
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In human males the paired accessory glands are :

(1) Seminal vesicles . (2) Testes

(3) Prostrate (4) - Vas deference
R HEEr ® gf?qa wereh et gt @

(1)  Syehrery (2) guor

(@) e (4) 3 e
The process of photosynthesis is maximum in :

. {1) Green light ‘- (2) Yellow light-
(3) Red light (4) Orange light
SEIS-Heawor & fpar gaifyes 6 ¥
(1) X gepier (2) o meprer
(3) =T seRrer A (4) -TGH meprer A

Who has given the term Vitamin ?

(1) Louis Pasteur (2) Funk

(3) Priestley (4) John Lister
foretferT ereg fopeer fRay o7 ?

(1) gIa = (2) Bh

(3) Brear . (4) o fereex
Pepsin digests :

(1) Protein (2) Fat

(3) Carbohydrates - (4) Al of the above

b P.T.0
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46.

47.

48.

49,

BIEIE I I G
(1) &M i (2) @ar =
(3) FERES2 (4) ST Al Al

pH of saliva is :

&Y % pH grar & ¢

13 9.5 (2) 8.0 (3) 7.0 (4) 6.5
Mvoglobin is found in :

(1) Lungs (2) Blood

(3) Muscles (4) None of the above
HENANETA 9Er S 8o

(1) &%s 4 () @7

(3) mfeafzal = (4) IT0=a ° A FRdl H AE

Amount of blood received by brain every minute is
viter Zr utg free i ge &l A E |
(1) 2500ml (2) 1000ml  (3) 750 ml (4) 450 ml

Vessels are absent in .
(1) Gymnosperms

(2) Pteridophytes

(3) Angiospmers

(4) Both Gymnosperms & Pteridophytes

(18)
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aifesierd srqufeery Sxf ¥ -

FAGAEST &
(2) RSy #
Jrgereftsh - #
TSR T RS mEgTE A A
Which of the following plant is a parasite ?
(1) Cuscuta (2) Taxus
(3) Ginko (4) None of the above
M= 4 & fm-ar der g &7
(1) e - (2) 29
(3) Fresr (4) SWRiE § § g 78t

A lamp has a resistance of 96 ohms. How much current flows
through the lamp when it is connected to 120 Volts ?

(1) 1.25 Ampere (2) 0.8 Ampere

(3} 2.50 Ampere (4) 1.6 Ampere

%%Wéﬁrnﬁ-'lﬁu%aﬂtr%lmqglzoaﬁﬁﬁgaét?ﬁ%w
7 bl e werfed @Rt ?

(1) 1.25 qfegay (2) 0.8 ufqgy
(3) 2.50 uftggy (4) 1.6 ufggy

The work done in moving a charge of 5 coulomb from a point at a
potential of 210 volts to another point at 240 volts is

(1) 1200 Joule - (2) 150 Joule

(3) 1050 Joule (4) 6 Joule

(17) P.T.O.
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53.

54.

59.

5§W%%aﬂaﬂa—ﬁ210éﬁm%@ﬁ%§ﬁ24oam%
forg Wk o w9 A fe T HE R

(1) 1200 Sy (2) 150 Syef
(3) 1050 5«1 (4) 6 S
Which of the following represents voltage ?

(1) Wiitie SR8 (2) Work done x charge

Current x time

(3) Workedonen Uit (4) Work done x charge x time

Current

Preffefiga §  BIF-81 dices H a9t @ 7

(1) T (2) HT x STELF
] X HHA
(3) ﬁﬂ}?ﬁi (4) T x aTE x §HI

Magnification produced by a plane mirror is :

guae ador & g ST B
(1) m>1 2) me1 @) m=0 (@) m=1

Force acting on a stationary charge O in a magnetic field Bs

BQ BV
(1) BQV @ (3) 5 (4) Zero
W%Bﬁ@ﬁ%aﬁmowsﬂﬁwaﬁ%:
BQ gy 8 2 4
(1) BOQV (2) 7 35 4 T

(18)
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If a block of a material released under water come upto the
surface of water :

(1). The upward buoyant force acting on block is greater than the
gravitational force

(2) The upward buoyant force acting on block is less than the
gravitational force

(3) The volume of water displaced by block is less than the
volume of the block

(4) The density of material of block is more than the density of
water ' |

(3) ﬁsmmﬁmwm,fﬁ@%wﬁzﬁq%
(4) %%WWWW%W@W%

An object of mass 2 kg is sliding with a constant velocity of
4 m/sec on a frictionless horizontal table. The force required to
keep the object moving with the same velocity is :

(1) 32N 2) ON (3 2N (4 8N

2%%3&%@@%%??4%@%%%
ﬁwm%iaﬁﬁwavﬁwmw%%%qmawaﬂ

g
(1) 3271 (2) 0w (3} 2 =qes @ 8=geq

(19) P.T.0
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58. A submarine sends a sonar pulse, which returns from an under
water cliff in 1.0 sec. If the speed of sound in salt water is
1530 m/sec, the distance of cliff is :

(1) 1530m  (2) 765m (3) 3060m  (4) 1m
@Ww%wﬁﬁ%,ﬁﬁsﬁ%www

2 -

dq 1.0 g H arqg et &) ufy T ol # sy o an
1530 /@ &, @ uTgE § A B G ¥

(1) 1530 #t (2) 765+ () 3060 4) 1+

59. If the tension in a stretched wire is increased four times, how will

the velocity of wave in the string vary ?
(1} The velocity will be halved

(2) The velocity will be doubled
13} The velocity will remain unchanged

(4) The velocity becomes four times

aﬁwaﬁg&mﬁmwwwﬁmw%,ﬁtmﬁaﬁ
F A7 HQ qiafda s Y |

(1) 3 aqem B SENT
(2) T XA TAT B SIAW
(3) a1 swivafia wm
(4) 3T =X AT B A

60. Which of the following is a non-renewable source of energy ?

(1) Wood (2) Sun (3) Fossil fuels (4) Wind
ﬁqﬁﬁﬁq-wmmmﬁ?ﬁ@ﬁ%?
(1] @& () T (3) wi¥st ga9 (4) B

(20)
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In a hydroelectric power plant more electrical power can be
generated if water falls from a greater height, because :

(1) Its temperature increases
(2) The thermal energy of water increases

(3) Larger amount of potential energy is converted into kinetic
‘energy

(4) More water molecules dissociate into ions

UF N AT af wEE F, ot Jem o s 2 om gadt &
At ol s FaE F Frear ®, a6ty

(1) ST a9 sgar 2

(2) R # anfir ot s @

(3) s A ¥ fafys s, i oot § oRaRfe a9y 2
@) el B sl ot sma ¥ g

Which of the following graph represents a uniformity of
accelerated motion ? - |

y | y
1] s 8
(1) ; (2) K
Tt = t—> X
y y
! %
@ @ 1
(21)

P.T.Q.
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frey & @ f9-97 WS TFH GHF @07 ) T W B 7

Y | y
(1 2 2) s
1 1
L—=% X_ t— o
Y y
Y |
(3} d (4) \Tf
- : Lo o

63. The colour of an object depends on :
(1) Wave length | (2) Frequency
(3) Velocity (4) Acceleration
frell g 1 T Frei R B
(1) aER=A W@ (2) @Rl W
(3) am W (4) T 9

64. The S. 1. Unit of magnetic flux is :

(1) Weber/m?* (2) Weber (3) Gauss (4) Oersted
Rt o THO AEo HES &
(1) /W2 (2) AN @) e (@) siREs

65. An aeroplane accelerates down a runway at 4 m /sec:2 for 30 sec,
until it finally lfts off the ground. The distance travelled before

take off is
(1) 120m (2) 1800m () 7.om (4) 900 m

(22)
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@ﬁwwﬁw-qawsoﬁwg%f“ﬁt{r;ﬁr/ﬁzaﬁa?ﬁ

(1) 120# (2) 1800 = (3) 7.5 (4) 900 #H

Commercial nuclear reactions are based on :
(1) Nuclear fusion

(2) Nuclear fission

(3) Combining two Or more lighter nuclei to get energy for reactor

(4) None of these

s it Rurer spanfig © -

(1) TREFR dagw @

(2) TPy fadsy g ‘ :

(3) am%amaﬁaﬁﬁaﬁﬁﬁa-mﬁw%m
SO 9T T w7

@ T 8 FE 75

Magnetic lines of forces emerge at :

(1) North pole and end at South pole

(2) ‘South pole and end at North pole
(3) In mid of North and South poles
(4} None of these

(1) ST g9 W o1 <Rl g or qomer e ¥
(2) QMQHIWHWW%HWW@?ﬁg
(3) Gﬁﬁamafiiﬂﬁ-gﬁ%nwﬁ‘

(4) =9 @ =g 78

(23) | P.T.O
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68.

69.

70.

If a current carrying straight conductor is held in i’ight hand such
that thumb points in the direction of current. The fingers will
wrap around the conductor in the direction of the field lines of the
magnetic field. This is known as :

(1} Right hand palm rule (2) Fleming's left hand rule

(3) Right hand thumb rule (4) Newton's rule

uﬁ@aﬂrqrﬁxﬁaamaﬁaﬁéﬁmﬁwwqmm%
%ﬁﬁawﬁmﬂﬁéﬁﬁm%wﬁﬁﬁ,miaﬁﬁaﬁ
o ¥ gradhia @R A Yarai # few F A B FE A ST
e

(1) afed ey @ Bdel A I (2) g & &g e @l FE
(3) «fed s & SFE B AR (4 et @l A

The device used for producing electric current, is called :

(1} Generator (2) Galvanometer
(3) Ammeter (4) Motor

Yo ar S AT gfad A Fed €

(1) R (2) freeT

(3) SHRT (4) #YeT

Most of the refraction for the light rays entering the eye occurs at :
(1) The outer surface of Cornea (2) Pupil

(3) Optic nerve (4) Retina
ﬁ@ﬁﬂﬁmaﬂﬁwﬂwm%@ﬁwmmﬁﬂm%:
(1) @i & aed |qe T (2) el 9X

(3) weIfREn T T (4) e W

(24)
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A person suffering from Myopia can see :

(1) nearby objects clearly but cannot see distant objects
distinctly '

(2) distant objects clearly but cannot see nearby objects
distinctly

(3) nearby as well as distant objects clearly

(4) can see objects at infinitely large distance clearly

Fepe gite Qv & G =afr 3 gwar 2

(1) ﬂﬁﬂﬂsiﬁrm@aﬁaﬁwqﬁgaﬁaﬁaﬁaﬁwﬁ
9 HEl @ Gehan '

() & H TGS # weTw g 9w W AR #oae a7 w
Tl 3™ Fepar

(3) UTE T X W gEIAT B WH-E
(4) o= gl W Red aegeli 9 aw-gm 2@ gwar
In a circuit, a metallic wire is connected in series with a battery

and an ammeter. If another wire (same metal, same length and

cross-sectional area) is connected in parallel to the metallic wire,
the current in ammeter will be : |

(1} Halved {(2) Doubled (3) Four times (4) Same

@Wﬂﬁwmmwaﬁ-W@m%-w
n}vﬁmﬁw%fuﬁwﬁm@fﬁwwaﬂmﬂwﬁz@aw
ww,mm%wmﬁﬁgﬁm'w%,maﬁ

(1) e () grH @) W (@) a7

1 23) P.T. 0.
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73.

74.

73.

Electric fuse is placed in ............ with electrical appliance for
protecting it :

(1) Parallel (2) Series

(3) Neither parallel nor series  (4) None of these
ITHIUT B |

(1) &= o (2) Avit #

(3) 9 & "EEEE § 7 ar S H (4) zqi @ HE Al

When an object is at infinity. The image formed by a convex

mirror will be :

(1) At focus, real and erect

(2) At focus, virtual énd erect

(3) At fucus, recal and magnified

{4) At between pole and focus
W%WWW%,@W@MWWM:
(1) g 7, aretas oF didl

(2) Brpg g, SR wE Hie

(3) Wiepe R, ARAES T Efed
(4) §a Td HIEA F A

While using a convex lens as a magnifying glass, object should be

palced :
(1) Between focus and optical centre

(2) At2F
(3) Between F and 2F
(4) At focus
(26)
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wmﬁaaﬁwgﬂ%ﬁmmmw,a@ﬁm
aifeq - -
(1) ®d Td weplimes @ & qeg

(2) 2P 4T

(3) Fud 2F & iy

(4) wHg g3

B B GHR BN qerr B oagef D

(1) sFtfasher & (2) wieaEy

(3) S Br | (4) ST B

T W YT 3

(1} am=g (2) 37t (3) ot 4) o=

et + IUTT %1 wfegs am

(1) U (2) omfosty  (3) ardergsis @) it
Tide 4 w99 ¥

(1) wgey ) ®am (3) m (4) s
St fEE AT WERS sl T B & R o e D

(1) ofvd  (2) yeehfrs B) TMfFF  (4) argNrE
RICE R IR G g C R W

(1) = (2) SmEm  (3) o (4) fEeds
Ree G 1 S8 Ao 7 o 7

(1) SEsiHT same | . (2) YERS guf

(3) sHER (4) ﬁﬁmﬁqg

weP 1.0



SET/17/19/XI1(B}/(3)

83.

84.

85.

86.

87.

88.

89.

90.

Yz @ B R 9" B

(1) T (2) wrEw (3) ST (4) e
el et FEE A ST’ A STEBN B

(1) 7= (2) oY (3) AT (4) IHET
i’ F1 e g B _

(1) omgids  (2) ERIEC! (3) HIH (4) sepferd
Fill in the blank in question with appropriate verb :

Either he or [ ......comsnins mistaken.

(1) are (2) am (3) is (4) would
Which is the correct indirect speech of the sentence - He said,
"That will do." ?

(1) He said he would do. (2) He is said to do.

(3} He said that would do. (4) He said that that will do.

What is the meaning of the word : PULLULATE ?
(1} To breed and spread rapidly (2) To spray
(3) To pull and level (4) To put in pyre and burn
What is the plural of the word : SYLLABUS ? |
(1) Syllabusies (2} Syllables
(3) Syllabi (4) Syllaby
'The cyclone devoured anything standing in its way.' Which figure
of speech is employed here ?
(1) Metaphor (2) Metonymy
(3) Personification ' (4) Simile
(28)
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The idiom 'once in a blue moon' means -
(1) boast (2) certainly

(3) very rarely " (4) very expensive

Choose the correct phrasal verb to fill in the blank : 'Nobody will
............ with his behaviour',

(1) come up (2) getin (3) putup (4) putin
Which of the 'follo;Jcring sentence is correct ?

(1} Iyou po.ur oil on water, it may float.

(2) If you pour oil on water, it will float,

(3) If jrou pour oil on water, it shall float.

(4) Ifyou pour oil on water, it floats.

To turn the tables' means i

(1) To make sp;ace | (2) To argue

(3) To reverse the conditions (4} To make a face

Matter written by hand is known as :
(1) Manual (2) Handicraft

(3) Hieroglyphic (4) Manuscript

Which state government has launched e-health program

"Jeevan Rekha" to provide a centralized database of healthcare

information ?
(1) Chhattisgarh = (2) Tamil Nadu
(3} Kerala (4) Gujarat

(29) T 0.
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¢

(1) wETe (2) THSATE
(3) FA (4) T

97. The National Girl Child Day is celebrated on which day ?
(1) January 22 (2) January 23
(3) January 24 (4) January 25
Wﬁu@ﬁmﬁﬁzﬁra@ﬁwmwmm%?
(1) 22 sFEd (2) 23 S
(3) 24 sEd (4) 25 STEU

98. Where is the headquarters of [nternational Vaccine Institute (Ivp) ?
(1) South Korea (2) Germany.
(3) Brazil (4) France
iSRS SR B A el I Red 27
(1) afRror sIREm (2) AT
(3) st (4) P

99. When First Five Year Plan was launched ?
gedfl deadta AV @E S gy S o 7
(1) 1947 (2) 1951 (3) 1948 (4) 1952

100. Indian Super League is associated with :

(1) Hockey (2) Football (3) Badminton (4) Kabaddi

gﬁgwwﬁﬂﬂmﬁaﬁ%:
(1) B & (2) weaE A (3) Fsfyves § (4) Fegdl €

(30)









